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n7iuL;iuJuoalnsJnls~~a~~l~~~~J  s” ~oJJluu~a:noulunlrrJmMn’n

S2 project = ES2 critical path

S project =‘dI=S*  critical path
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44m
?8ll1 JIU

1-Z

l - 3

2 - 3

2 - 6

3 - 5

4 - 5

4-G

5 - 6

to t m

1 3

2 5

1 2

2 3

c 8

2 4

4 5

5 6

5 - 7 2 5

6 - 7 4 6

lil  i = ,;Ju,“,;lJn”u  (starting event)

j = l&i~~~~~~JlU  (ending event)

d i j  = L~UL?RI~‘~J’IUYCIJJ~U  (i,j)

tQ te

5 3

6 4.67

4 2.17

6 3.33

9 7.83

G 4

a 5.33

7 6

a 5

7 5.83
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rri
?8?t  1 E i  = LiLL?Ri%JIIUilJlUI;DU  bA8t etlrt time) WIJJIU (i, j) ’

fkL?i  Ej = mrx  (Ei+di  j)

El = 0

E2 = max  (El + dl2)  = max (0+3)  = 3

g3 = max (El + d13. E2 + d23)  = mnx (0 + 4.67, 3 + 2.17) = 6.17

E4 = mai (E2 + d24)  = mxx  (3 + 0)  3 3

E5 = m&x  (E4 t d45, E3 + d35)  = max  (3 t 4, 5.17 + 78.3) P 13

E6 = max  (E2  t d26, E4 + d46, E5 + d 56)  = max  (3+3.33,  3+5.33,  13t6)  r 19

E7 = mat (E5 t d57, E6 + 667)  = mrx (13  + 5, 19 + 5.83) = 24.83

.  . ’ fiiniv~iuvirG 2 5  ?‘u lmJ
-44
atill 2 Ii; Lj lh4~?tWLd9JlUtlfG  (Latest  Completion t ime) l!fNJIU (i, j)

&U”U Li = min (Lj - dij)

L7 = E7 = 24.83

L6 = min cL7-d67)  = min (24.83-5.83) = 19

L5 = m i n  (L7-d57,  L6-d56)  = Lin (24.83-5,  19-6) = 13

L4 = min (L6-d46,  L5-d45)  = min (19-5.33, 13-4)  = 9

L3 = min (L5-d35)  = min (13-7.83)  = 5.17

L2 z min (L6-d26,  L4-d24,  L3-d23)  = min (19-3.33,  9-0, 5.17-2.17) = -3

Ll = min (L3-d13,  L2-dl2) = min (5.17-4.67, 3-3)  = 0

JlUl-2,2+3-5,5-6,6-7  tilUJlU~R’nGto~~u~,u~lUmrin  l - 2 - 3 - 5 - 6 - 7  mm
( Y
-mafim;t 2 rJriiuanrniuJiu~R’n97nnslvlunclJn7uJlu~~”,,~
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-* .
38Ill iii j = ~nl~~~JlU

.
d i j  = L’M1Yl1J1UBDJJ1U  (i, j)

m-d
3an  1 ’ E i  = l?Rlt;XlnYUJlUT;OUYOJ\tlU  (i, j)

&U’U  E j  = max  (Ei+dij)

El = 0

E 2  zz m s x  (El.tdl2)  = m a x  (O+lO)  = 10 .

E 3  = m a x  (E2td23)  = max  (10+9) = 1 9

E4  = m a x  (E3+d34, El+d14)  = m a x  (19t3,  O+l)  = 2 2

E5 = max  (Eltd15,  E2td25)  = m a x  (Ot5, IO-&)  = 18

E6 = max (E2td26,  E3+d36, E4td46,  E5td56)  = max (10+10,19+4,22+5,18+7)=27

E7 = max (E4td47,  E6td67,  E5td57)  c max  (22+4, 27-8, l&3)  = 35
e-d
sun  2 1M’  L j  = l~UL?AXO~PJ1UMR”J

Y t:
nJUU  L i  = m i n  (Lj-dij)

L7 = E7 zr 35

L6  z min  (L7-d67)  = min  (35-8)  = 2 7

LS = min  (L6-d56,  L7-d57)  = min  (27-7,  35-3)  = 2 0

L4 = min (L6-d46,  L7-d47)  = min (27-5,  35-4)  = 22

L 3  = m i n  (L4-d34,  L6-d36)  = min  (22-3,  27-d) = 19

L2 = min (LSd23,  LG-d26,  L5-d25)  = min (19-9, 27-10, 20-8)  = 10

Ll = m i n  (L2-d12.  L5-d15,  L4-d14)  = yin  (10-10,  20-5,  2 2 - l )  = 0

Olflfl’i&J~  1 IlO:<  2 P:l~U;~J~ULLr(RL~U~U~~,l1J’IUMO~P-;?rUo~~~””J;:

(1)  Ei = Li

(2)  .Ej  -; 1,J

(3)  Ej .-  Ei = Lj - Li I dlj

18 GM 4 1 2



t w

0
0



toJIU

A
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F

G

H

I

J

t o tm tP- - -

2 4 'I

1 3 5

4 5 6

4 7 10

5 6 7

1 a 3

2 2 2

3 5 7

3 6 9

2 4 12

SB-

4 A4

3 .44

5 .ll

7 1

6 .11

2 .11

2 0

5 .44

6 1

5 2.78

El  = 0

d i j  = t?filnlJ1U%iOJ~1u  (i, j)

Ei = Lao1L%JJluifJu

&li'U Ej = max (Ei+dij)

E2 = max (Eltd12)  = max (Ot4)  = 4

E3 = max (Eltd13)  = max (Ot3)  = 3

E 4  =. mrx (E2i,d24)  = m a x  (4t5)  = 9

E5  = m a x  iE3+d35)  =, max (3t6)  = 9

E6  = max’(E5td56)  = m a x  (9+2)  = 11

EX  = mxx  (E5td57)  = m a x  (9+2)  = 11

E8  = max (E4td48,  E6+d68,  E7td78,)  = max (9t7, 11t5,  11+(i)  = 17

E9  = max (E8td89)  = m a x  (17t5) = 2 2

Iii  Lj = L?~lL0~9JlUHR”J

*

.44

.l?

0

1
2.7E
4.33

20 GM 412



ih”u Li = min (Lj-dij)

L9 = E9 =: 22

L8 = min (L9-d89)  = min (22-6)  = 1 7

L7 E: min k8-d78)  = mio (17-S)  = 11 .

Lb = m i n  b-d681  = m&.(17-5)  = 1 2

L6 = min (L6-d66,  L7-d57)  = m i n  (X2-2,  11-2)  E 9

L4 = min (L8-d48)  = min (i7-7)  = 10 ’

L3 = min (L5-d35)  = min (9-6)  = 3

L2 2 min (L4-d24)  = min (10-6)  = 5

Ll = min (L3-dl3; L2-d12)  E min (3-3, 5-4)  = 0

ttn~~~iliitm’uilPrnl~~7n~i~n~~n~~~~tu~~~~u  2 2  ?‘u  dho~
.

Variance = 4.33- - -
‘h Standard’ Deviation = v4.33

= f 2.08
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